ПРИЛОЖЕНИЕ 1
Task1. Write the correct form of the verb in brackets to complete the conditional 2 sentences in the rhymes.
A. If all the seas (to be) …… one sea?
What a great sea that (to be)……,
And if all the trees (to be)……one tree,
What a great tree that (to be)……,
And if all the axes (to be) ……one axe,
What a great axe that (to be)……,
And if all the men (to be) …… one man,
What a great man that (to be) ……,
And if the great man (to take) … …the great axe,
And (to cut) …… down the great tree, 
And (to let) …… it fall into the great sea,
What a splish splash that (to be) …… .
                                                 (from  “Mother Goose Rhymes”)

B. If (to have) …… a donkey and he wouldn’t go,
Do you think I (to hit) …… him?
No, no, no.
I (to put) ……him in the stable
And (to give) …… him some straw,
And the poor little donkey
(Not to work) …… any more. 
                                               (A. A. Milne)

